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- Today :

- Finish Brenner Fixed Paint

Theorem

- Perron-Frobenius theorem

Special cuse : Stationary

distribution of a Markow

chain

- Hash Equilibrium , prove

existence
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The /Browner fixed paint theorem]
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But scre argument when

homeomorphic k

XI IDh

but X is not convex,

falls apart .



How knowy (1) - (3) we
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contradiction---
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#hm : If X = (X,&) is a topolog

space, A<X is a subset

we say that A is a retraction

of X if there is a map
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If so
,
then

dim (H : (A)) -> dim (16 : (x))

(A) pi(x)



Applications :

We say that M ,
non matrix,

with non-negative entries , is

a Markov matrix

if !

m : Immune sI
Mun



Intuitively
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Then

-M also stochastic

thata
m =

Thm :If ...., then

↑ exists and is unique .


